! multiplikation af breker (korrekt brak) (forkert

< brok)
Dato: Score:
5 1
— X — =
8 8
1 3
— X — =
274
7 1
— X — =
2 6
7 4 4
— — X = =
2 g8 8
1 3 2
— — X - =
6 5 5
3 3 4
— — X - =
4 2 7
1 3 7
_ — X — =
2 8 3
4 5 7
_ — X — =
3 9 2
4 7
— X — =
8 4
7 2 5
_ — X — =
8 8 7
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: e multiplikation af breker (korrekt brek) (forkert
R ¢ - brek)
Dato: Score: _____

2 1 5 y I 5
6 6 8 8 064

2 4 4 1 3 3

- X - = X — = _

7 6 21 2 4 8

5.1 5 7 y | O

7 4 28 2 6 12

7 o2 7 1 4 y 4 1

2 3 3 3 8 8 4

1 3 1 3 y 2 6

6 2 4 5 5 25

332 3.4_6

4 5 20 2 7 7

1.6_3 3,77

2 8 8 8 3 8

4 2 8 5 y 7 35 17

3 9 27 9 2 18 18

2 5 10 4 y T 7

7 3 2 8 4 8

7 3 7 2 y 5 5

8 9 24 8 7 28
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